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Mar 8­10:54 AM

Here I check for whattodo equal to *.  Notice that equal is written with 
==.  If whattodo is not * then I take the else and do the divide. Note 
that anything that is not an * will be executed.  So a z will do the divide 
and a 5 will do the divide.

Mar 8­11:03 AM

Now I want to make it so I ask about the /. If it 
is not a slash I want it to write out 0 or maybe 
the word problem.

Mar 8­11:08 AM

Now if I enter a z or a 
5 it will make the ans 
0. The only time I will 
do a divide is when I 
enter the /.

Mar 8­11:08 AM

Mar 8­11:08 AM Mar 8­11:08 AM

Note that T or Y work

and N or F also work.
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Mar 8­11:09 AM Mar 8­11:13 AM

Mar 8­11:18 AM Mar 8­11:32 AM

Mar 8­11:33 AM

This now tests for all the arithmetic possibilities. Notice I 
connected the curly braces to show how they go together.

Mar 8­11:35 AM
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Mar 8­11:39 AM Mar 8­11:39 AM

Mar 8­11:42 AM

Response to question about doing separate if statements.

The problem is how do you handle the error entries. The way I 
have it if I put in an * then it does the multiply . Then it finds it 
is not a / and drops through and checks and finds that it is not 
a + and drops through and finds it is not a subtract sign. But at 
that point it takes the else and replaces the multiply answer 
with a 0.  That is a problem.  There is no easy solution.

Mar 8­11:47 AM

Mar 8­11:50 AM Mar 8­11:54 AM
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Mar 8­11:56 AM

A lot of coders put the curly braces in different 
places with the opening going on the line with 
the if and the closing going on the last line .

Note that I used alert to show the results as I 
moved through the code.  Nice debugging tool.

Mar 8­11:57 AM

Mar 8­12:00 PM Mar 8­12:01 PM

Mar 8­12:03 PM Mar 8­12:07 PM
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Mar 8­12:07 PM Mar 8­12:11 PM
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